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31.000
25.000
¢ =0.7
)
0 8 /
e 1.00
1.36 =25-30
B 1.00
7z = 0 X e X X B
=18 x 1.00 x 1.36 x 1.00 =24.5 /
-1 2 _ 1 > _
Z="76 77 35 x 24.5 = 37.5 kgf/ (368 N/ )
®
9’ 9’ (p 0-70
y 0.30 y =1 0]
0 1.57
0.61 =31.000 =25.000
1.22 = =1.0 0.31¢
= (0.11 0.09% y 0.945%x  ox ) x
= (0.11 0.09x 0.30 0.945x 1.57x 0.61 )x 1.22
=1.27
4

3.600 x 3.400 = 12.24
450x 1.3 = 585 kgf

= z
37.5 kgf/ x 1.27 x 12.24

582.9 kgf = 585 kgf
(5720 N) (5740 N)
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19
= 5000 kg/
¢)
[ TC-917 ( 900-1700) ] 15.900 kg % 19 x 1 = 302.1 kg
[ SYi-518 ] 23.000 kg  x 18 x 1 = 414.0 kg
[ SXB-1618 ] 4.040 kg x 19 x 2 = 153.5 kg
[M ] 0.500 kg % 18 x 2 = 18.0 kg
[ ALB8 ] 0.800 kg x 18 x 2 = 28.8 kg
[ KS-1718 ] 35.000 kg x 3 x 1 = 105.0 kg
[ ] 0.460 kg/ x 1.800 x 32.600 = 27.0 kg
1048.4 kg
(10300 N)
= 400 kg x 2 = 800 kg (7850 N)
®

1048.4 kg 800 kg

1848.4 kg = 5000 kg
(18200 N) (49100 N)
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SPL-54
3 ( 5.400 )
3 (5.400 ) o
1000 kg B4 <
0 %
[ TC-917 ( 900-1700) ] 15.900kg x 16 x 1 x 2 2 = 254.4 kg
[ SYi-518 ] 23.000kg x 15 x 1 x 1.5 = 517.5 kg
[ SXB-1618 ] 4.040kg x 16 x 2 x 1.5 = 193.9 kg
[ M 0.500kg x 15 x 2 x 2 2 = 15.0 kg
[ ALB8 ] 0.800kg x 15 x 2 x 2 2 = 24.0 kg
[ KS-1718 ] 35.000kg % 3 x1.5 = 157.5 kg
[ ] 0.460kg/ x1.80 x27.50 x1.5 = 34.2 kg
1196.5 kg
1) = 1196.5 kg 1000 kg 2 = 1696.5 kg (16700 N)
[ TC-917 ( 900-1700) ] 15.900 kg x 19 x 1 = 302.1 kg
[ SYi-518 ] 23.000 kg x 18 x 1 2 = 207.0 kg
[ SXB-1618 ] 4.040 kg x 19 x 2 2 = 76.8 kg
[ M 0.500 kg x 18 x 2 = 18.0 kg
[ ALB8 ] 0.800 kg x 18 x 2 = 28.8 kg
[ KS-1718 ] 35.000 kg x 3 x 1 2 = 52.5 kg
L ] 0.460 kg/ x 1.800 x 32.600 2 = 13.5 kg
698.7 kg
( 2 = 698.7 kg 800 kg 2 = 1098.7 kg (10800 N)
= QIS « 2
= 1696.5 kg 1098.7 kg
= 2795.2 kg = 5000 kg
(27500 N) (49100 N)
= 2800 kg =100mm
= 2795.2kg 2 = 1397.6 kg = 2800 kg
(13800 N) (27500 N)
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[ @48.6x2.4 (STK500) ]  2.730kg/ x 25.800 x 1 = 70.4 kg
[ @48.6x2.4 (STK500) ]  2.730kg/ x 1.800 x 15 = 73.7 kg
[ 25x240 () ] 4.180kg/ x 1.800 x 14 = 105.3 kg
[ ©48.6x2.3 (STK400) ]  2.630kg/ x 1.800 x 14 = 66.3 kg
[ SBK (300-500) ] 3.600kg x 14 = 50.4 kg
[ ] 0.460kg/ x 1.800 x 25.800 = 21.4 kg
[ @48.6x2.4 (STK400) ]  2.730kg/ x 2.546 x 1 = 7.0 kg
394.5 kg

(3870 N)
[ SBK (300-500) ] = 3.60 kg
[ 25x240 () ] 4.180kg/ x 1.800 = 7.52 kg
11.12 kg

(110 N)

100 kg (981 N)

8731



€Y)

25.000
18.500
¢ =0.7
@
0 18 /
e 1.00
1.25
B 1.00
Z = 0 X e X X B
=18 x 1.00 x 1.25 x 1.00 = 22.5
_ 1 > _ 1 2 _
zZ= 16 z = 16 x 22.5° = 31.6 kgf/
€))
I I (p 0.70
0 1.57
0.62 =25.000
1.22 =
= (0.11 0.945x  ox ) x
= (0.11 0.945% 1.57x 0.62 )x 1.22
=1.26
)

3.600 x 3.400 = 12.24
450%x 1.3 = 585 kgf

= z
31.6 kgf/ x 1.26 x 12.24

487.3 kgf = 585 kgf
(4790 N) (5740 N)

9731
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@ 48.6x2.4 (STK500)
= 3.483 ¢ (348.3m%)
3.830 ¢ * (3830mm*)
2100000 kg/c  (207000N/mn’)
1.64 ¢ (16.4mm)

394.50 100 = 494.50 kg
11.12 100 = 111.12 kg

1 = 0.250
= 3.40
x ;= 111.12 x 0.250 = 27.78 kg !
= 27.78 kg = 2778 kg ¢ (273 KN mm)

AN
x 100 3.40x 100

= A = 207
_ ) [ 2100000  _
"0 T3 Toexas0 - 102
c b
0.277 0.277x 3300
= 0277 g g5 = 0:277x 3300  ,
o Ay S BB 00 102y >
= 278 kg/c
= 2400 x 1.25 = 3000 kg/c
. 494.50 _
gcC = 3483 142.0 kg/c (14 N/mm2)
_ 2778 _
ob = 3830 - 725.3 kg/c (71.2 N/mm2)
ob _ 142.0 725.3 _ _
D= S 0511 0.242=0.753 1.0

10 7 31



25x240 ()

250.000 ¢ 2 (25000mnt)

( ) = 130.208 ¢ * (1302080mn")
= 104.167 ¢ ° (104167mm’)
= 90000 kg/c  (8830N/mn’)
K =1.5
b = 165 kg/c
s = 10.5 kg/c
100kg LTI
=0.04kg/c l - 180.0cn l
@
_ * _ 100x 180.0 0.04x 180.0°
4 8 4 8
= 4500.0  162.0 = 4662.0 kg ¢ (458 KN mm)
_ 4662.0 _ _
ob = 104167 - 44.8 kg/c b = 165 kg/c
(4.4 N/mn) (16.2 N/mnt)
@
_ _ 100 0.04x 180.0
2 2 2 2
= 50.0 3.6 = 53.6 kg (526 N)
_ K _ 1.5x53.6 _ _
T = = 250,000 - 0.3 kg/c 2 s = 10.5 kg/c2
(0.030 N/mm’) (1.03 N/mn?)
€))
5 = ’ 5 100% 180.0’ 5x 0.04x 180.0°
48 384 48x 90000x 130.208 384x 90000x 130.208

1.037 0.047 = 1.084 c
(10.84 mm)

117 31
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(€)) 1
[ TC-917 ( 900-1700) ] 15.900kg % 15 x 1 238.5 kg
[ SYi-518 ] 23.000kg % 14 x 1 322.0 kg
[ SXB-1618 ] 4.040kg  x 15 x 2 121.2 kg
[ M 1 0.500kg  x 14 x 2 14.0 kg
[ ALBS ] 0.800kg  x 14 x 2 22.4 kg
[ KS-1718 ] 35.000kg  x 1 x 1 35.0 kg
[ 1 0.460kg/ x 25.500 x 1.800 21.1 kg
774.2 kg
(7600 N)
@) 2
[ BB-35 (55-350) 1] 4.400kg  x 2 8.8 kg
L ¢ 48.6x2.3 (STK400) ] 2.630kg/ x 1.800 2 9.5 kg
L 25x240 ( ) ] 4.180kg/ x 1.800 2 15.0 kg
[ 90x90 ( )] 6.480kg/ x 1.800 2 23.3 kg
56.6 kg
(556 N)
A3 3
= 400 kg x 2 = 800 kg (7850 N)
4) 4
= 49.9 kg/ (490 N/ )

137 31



2

00x200x8x12 (SS400) ) 2

4720.000 ¢ ¢ (47200000m")

472.000 ¢ ° (472000mm’)

2100000 kg/c  (207000N/mnf)

s = 900 kg/c
= 55c¢c (655mm)
@
o ERERREE RN
1 2 2 2
= — (774.20 56.60 800
2( ) = 5.400
= 815.4 kg (8000 N)
= 49.9 kg/ = 0.499 kg/c (0.49 N/mm)
e |
@
Ra = 815.4 kg
Rb = 815.4 kg
2 = 180.0 c
_ 1 2
= 2xRb 3
= 180.0x 815.4 A%fx 0.499x 5407
= 164960 kg ¢ (16200 KN mm)
ob
_ 164960 _
ob = 4720 - 349.5 kg/c
b
2 2
_ n 2100000x 3.142° _
A= 0 B 0.6x 2400 = 120
Y (T ) SN 540 5.50)° i}
Fbl = (1- 0.4 5/ )Ft = (1- 0.4x 70 50 2 )x 1.6 = 1.172t/c
_ 900 900 _
2 ="b h AP - (540x 20.0 (20.0x 1.2))  2-ooove
b Fbl Fb2
b = 1.600t/c = 1600 kg/c
ob b
o b = 349.5 kg/c b = 1600 kg/c

(34.3 N/mn?)

(157 N/mn’)
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®

1
R -
a5

815.4

950.1 kg (9330 N)

950.1

20.0x 0.80

T

59.4 kg/c
(5.83 N/mt)

—
1

*

3 4

63 5

1000 1 384 |
63x 815.4x 540°

A%fx 0.499x 540

= 59.4 kg/c

S

s = 900 kg/c
(88.3 N/mnt)

5x 0.499x 540

1000x 2100000x 4720

0.816 0.056

0.872 ¢
(8.72 mm)

384x 2100000x 4720

157 31
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@

ob

Fbl

Fb2 =

ob

( 300x300x10x15 (SS400) )

(7]
1]

900 kg/c

=8.23 ¢ (82.
n=3
0=2

{(

4%—{ ( 774.2 56.6 800 )x 3
2715.7 kg (26700 N)

94.0 kg/ = 0.940 kg/c  (0.92

1 2
( ) X Tl

(90.0 30)x 2715.7  30x 2715.7
417930 kg ¢ (41000 KN mm)

417930
1360

= 307.3 kg/c

b

1360.0 ¢ * (1360000mm’)
20400.000 ¢ * (204000000mn")
2100000 kg/c  (207000N/m’)

3mm)

WA

TR EEEER

)x n X

49.9x 5.400x 2 }

3 N/mm)

L« 0.940% 150°

2

mn’ :/J/ 2100000x 3.142°
0.6 0.6x 2400

-2
(1- 0.44£Lg](;)47)Ft = (1- 0.4x

= 120
(240.0 8.23)°

1.75% 120°
900 _ 900
(Lb h Af) (240.0x 30.0 (30.0x 1.5))
b Fbl Fb2
1.600t/c = 1600 kg/c
ob b
307.3 kg/c b = 1600 kg/c
(30.2 N/mt) (157 N/mn’)
16 / 31

J)x 1.6 = 1.578t/c

= 5.625t/c



©)

2%

2x 2715.7 0.940x 150
5572.4 kg (54700 N)

_ _ 5572.4  _
T = = 30.0x 1.00 - 185.7 kg/c
T S
T = 185.7 kg/c s = 900 kg/c
(18.3 N/mnt) (88.3 N/mnt)
®
4
- 2 2
5 = 8 1 6 1 ( yx @3 ) x (3
0.940x 150" 2715.7
8x 2100000 20400 6x 2100000x 20400

x  (90.0 30)°x (3x 150 90.0 30) 30°x (3x 150 30)
= 0.0014  0.054

= 0.055 ¢
(0.55 mm)
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28.0 c
10c
24.0 c
10c

800 kg/c
1400 kg/c

€Y)

417930 kg ¢ (41000 KN mm) 7
1 3 3 el \ \
s« p i x 1 }
28.0

= - 21-3 -3 =1. =24 . =30.
6% (30.0 2x 1.0) © t(30.0 2x1.0)" 30.0% 2:1.0 2-24.0| =30.0

841.2 kg/c ° |

417930

b 841.2

I
Il
w
o
o

496.8 kg/c s = 1400 kg/c
(48.8 N/mt) (138 N/mn’)

@

5572.4 kg (54700 N)
2% 2x L2

2% 24.0x 1.0

48.0 c

o= = 9572.4 _ 445 1 kg/c s = 800 kg/c

48.0
(11.4 N/mn?) (78.5 N/mn?)

®

— 2 2
OMQ—A/ob T

= /496.8 116.1°
N

= 510.2 kg/c s = 800 kg/c
(50.1 N/mt) (78.5 N/mt)

18 /7 31



@
1
T
)
1
ts
o ts
®

( ) 4 2
= 5572.4 kg (54700 N)
= 3.14 ¢ ? (314mm’)
s = 900 kg/c ( )
t = 1200 kg/c ( )
1
_ 5572.4 _
2 , = e =928.7 kg (9120 N)
T
L %féﬁ; = 295.8 kg/c s = 900 kg/c
’ (29.1 N/mn?) (88.3 N/mnt)
1
_ 417930 _
v (%5 a0.0x FA)d " 2458.4 kg (24200 N)
t
=1.4 t 1.6t ( ts t)
= 1.4x 1200 1.6x 295.8 = 1206.7 kg/c t = 1200 kg/c
o ts
-1 2g5244 = 782.9 kg/c ts = 1200 kg/c
) (76.9 N/mi?) (118 N/m?)
Y =6.44c
a =9.0 kg/c
()
1 _  2458.4  _ _ 2 _
ax U = S ox 6.4 - 42.4 ¢ =3 x 42.4 = 28.3 ¢C
45.0 ¢

19 7 31



c = 270kgf/c  ( 27N/mm2 )

-1
=3 x ¢x 1.5
= 4%7 x 270 x 1.5 = 135 kgf/c  (13.3 N/m)
o
= :%xo’x 2)( X
o
_ 4
4x 417930
50.0x 60.0x 42.50
= 13.1 kg/c c = 135 kg/c
(1.29 N/mnt) (13.3 N/mt)

20 /7 31



25

b
b = 1%3 X cx 1.25
= 113 x 2400 x 1.25 = 2308 kg/c
@
= 2458.4 kg
= 1 %
= 2458.4 kg x 7.5 c = 18438.0 kg ¢ (1810 KN mm)
2 2
_ _ 10.0x 2.5 _ 3
= = ; =10.42 ¢
b
(6)
o = - 1?33250 = 1769.5 kg/c b = 2308 kg/c
’ (174 N/mn’) (227 N/mi’)
@)
Cc
=150 c
o2 =13.1 kg/c
o1 =6.55 kg/c
-1 2 1 2
= ol 3 (c2 ol
1 2 1 2
= TX 6.55% 15.0 ?(13.1 6.55)x 15.0
= 1228.1 kg ¢ (121 KN mm)
b=1c
2 2
1x 2.5 3
= = =1.04
6 5 04 c
(6)
G = = 1i2851 = 1180.9 kg/c b = 2308 kg/c
) (116 N/mn?) (227 N/mn?)

217 31
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| | 0
6.500 5; I_' 675
5.850 N LB 75
1.800 I 1500
1.500 —© O FE —e
0.500 ]I |[I 1500 5850
1.000 I 1500
:Cﬁﬁﬁr@T: 675
(ﬁ) (E) (EP (ﬁ)
|| \
550 1800 J 1800 J 1800 _5501000\
6500
€Y
[ 25x240 ( )1 16.741 kg/ x 1.800 x 1 x2= 60.3 kg
[ 60x60 (STKR400) ] 4.060 kg/ x 1.800 x 4 = 29.2 kg
[ 60x60 (STKR400) ] 4.060 kg/ x 5.850 x 1 = 23.8 kg
[ ] 0.320 kg/ x 5.850 x 1.800 = 3.4 kg
116.7 kg
(1150 N)
@
80 kgx 2 = 160 kg
40 kgx 2 = 80 kg
240 kg
(2360 N)
=430 kg
= = 356.7 kg = 430 kg
(3500 N) (4220 N)
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25%240 ()

( )
= 250.000 ¢ 2 (25000m?)
( ) = 130.208 ¢ * (1302080mm")
= 104.167 ¢ ° (104167mm’)
= 90000 kg/c  (8830N/mn’)
K =1.5
b = 165 kg/c
s = 10.5 kg/c
80 kg 40 kg
=80 40 = 120 kg (1180 N)
= 0.1674 kg/c (0.165 N/mm)
LT
J = 150 cm J
@
2 2
- - 120150 0.1674x 150 _ 4970 5 kg c (488 KN mm)
4 8 4 8
Gb = fﬁﬁoig = 47.7 kg/c b = 165 kg/c
) (4.68 N/mi?) (16.2 N/mi?)
@
_ _ 120 0.1674x 150 _
= = 5 = 72.6 kg (713 N)
1 =X = 1}2;)Zi§6 = 0.4 kg/c s = 10.5 kg/c
) (0.040 N/mi?) (1.03 N/mn?)
(©))
3 4
_ 5
° = 384
i} 120x 150’ 5x 0.1674x 150"
48x 90000x 130.208 384x 90000x 130.208

0.720 0.094 = 0.814 ¢
(8.14 mm)

23/ 31



60x60 (STKR400)

( )
= 2.760 ¢ > (276mm’)
( ) = 28.300 ¢ * (283000mm")
= 9.440 ¢ * (9440mm’)
= 2100000 kg/c  (207000N/mnt)
K =1.0
b = 1600 kg/c
s = 900.0 kg/c
80 kg 40 kg
=80 40  16.741kg/ x 1.800 x 1x 2 = 180.3 kg (1770 N)
= 0.04060 kg/c (0.04 N/mm)
LT
J = 180 cm J
@
2 2
- _ 180.3x 180 0.04060x 180" _ g,o- g kgc (813 KN mm)
4 8 4 8
Gb = = 8;7159 = 876.9 kg/c b = 1600 kg/c
) (86.1 N/mn?) (157 N/mn?)
@
_ _ 180.3 0.04060x 180 _
= =, ) = 93.9 kg (922 N)
1 =X = 1'gx7gg'9 = 34.0 kg/c s = 900 kg/c
) (3.34 N/mi?) (88.3 N/m?)
(©))
3 4
_ 5
& = 48 384
- 180.3x 180° 5x 0.04060x 180"
48x 2100000x 28.300 384x 2100000x 28.300
= 0.369 0.009 = 0.378 ¢
(3.78 mm)

24 / 31



60x60 (STKR400)

( )
= 2.760 ¢ > (276mm’)
( ) = 28.300 ¢ * (283000mn")
= 9.440 ¢ * (9440mn’)
= 2100000 kg/c  (207000N/mnt)
K =1.0
b = 1600 kg/c
s = 900.0 kg/c
80 kg

=80 40  16.741kg/ x 1.800 x 1x 2 = 180.3 kg (1770 N)

RN
4.060 kg/ x 5.850 x 1 = 23.8 kg
4.060 kg/ x 1.800 x 4 = 29.2 kg a=50cm | | b=485cm | ad50cn
53.0 kg i
(520 N) = 585cm
_ 53.0 kg _
t65 o = 0-0906 kg/cm  (0.089 N/mm)
@
2 2
= a o = 180.3x 50 49;999%§;gg;4,: 12890.7 kg ¢ (1270 KN mm)
ob = 1%?%347 - 1365.5 kg/c b = 1600 kg/c
) (134 N/mi?) (157 N/mt)
@
= S = 180.3 49;9992545§57 = 206.8 kg (2030 N)
ro= Koo 1-2;2;;?-8 = 74.9 kg/c s = 900 kg/c
' (7.35 N/mt) (88.3 N/mnt)
(©)
3 5 4
- 3 2
° = )y =) 2 384
180x 585’ (285 30 5, (485 5x 0.0906x 585'
48x 2100000x 28.300 * 585 585 384x 2100000 28.300

6.426 2.325 =8.751 ¢
(87.51 mm)

257 31



60x60 (STKR400)

= 2.760 ¢ * (276mn’)
( ) = 28.300 ¢ * (283000mn")
= 9.440 ¢ * (9440mm*)
= 2100000 kg/c  (207000N/mm’)

K =1.0
b = 1600 kg/c
s = 900.0 kg/c
= 0.0406 kg/c
« )
2.525 kg x 1 = 2.5 kg
0.320 kg x 1 = 0.3 kg
2.730 kg/ x 1.800 x 1 = 4.9 kg
7.7 kg ’ 1
(75.6 N)
C )
0 kg ~ 0.0 kg [T
40 kg = 40.0 kg
16.741 kg/ x 1.800 x1 x2 = 60.3 kg a=50cn |
0.320 kg/ x 1.000 x 1.800 = 0.6 kg
= 100cm
180.9 kg
(1780 N)
@
2
= 1 2 a 5
2
= 7.7x 100 180.9x 50 49;949%§;gx;4,: 10018.0 kg ¢ (983 KN mm)
ob = - 12?%ﬁ£° = 1061.2 kg/c b = 1600 kg/c
) (105 N/mi?) (157 N/mn?)
@
= 1 2 =7.7 180.9  0.0406x 100 = 192.7 kg (1900 N)
S S— 1-2;ﬂ%§$-7 = 69.8 kg/c s = 900 kg/c
) (6.85 N/m?) (88.3 N/m?)
(©)
3 3
o1 2 3
° =73 3 (L5
7.7x 100° 180.9x 50° ) 3x50
3x 2100000x 28.30 3x 2100000x 28.30 2x 50
=0.043  0.317 = 0.360 ¢
(3.60 mm)
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6.500

5.850
1.800
0.900
16.2
28x240 () 0.18 | 28
60x60 (STKRA00) 0.900 0.80 | 29
250x250x9x14 (SS400) 1.800 0.38 | 30
H 1200x800x15x12 (SS400) 6.500 0.01 | 31
Hd H peaa.
900
900
9001 5850
900
900
500
Hd H
500 1800 | 1800 | 2400
6500
5.00 (49.1 KN)
1.1
4.68 kg/ (46 N/ )
4.06 kg/ (39.9 N/ )
72.40 kg/ (711 N/ )
289.40 kg/ (2840 N/ )

27 / 31




28x240 ()

( )
0.900 ( =9c )
- 280.000 ¢ 2 (28000mi) [ l\figiffigiﬁLi |
( ) = 182.933 ¢ * (1829330mm") Fay
= 130.667 ¢ * (130667mm’)
= 90000 kg/c  (8830N/mnt) - 90c
K =1.5
b = 165 kg/c
s = 10.5 kg/c
_ 5000kg x 1.10
= 16.2 4.68 kg/
=344.2 kg/ x 1.0 = 344.2 kg/ = 3.44 kg/c (3.38 N/mm)
@
2 3.44x 90°
= 3 = — 3 = 3483.0 kg ¢ (342 KN mm)
ob = - 3483.0 _ 56 7 \g/c b = 165 kg/c
130.667 ) 2
(2.62 N/mm™) (16.2 N/mm™)
@
S 3-4ﬁ; N - 154.8 kg (1520 N)
_ K _ 1.5x 154.8 _ _
T = = 580,000 - 0.8 kg/c : s = 10.5 kg/c2
(0.079 N/mm’) (1.03 N/mn?)
©)
_ 5 5x 3.44x 90" _
& = 384 = “384x 90000x 182,033 _ O-179°¢
(1.79 mm)

28 / 31



(
@
ob
@
T
©)
d

60x60 (STKR400)

( )
1.800 ( =180c )
= 2.760 ¢ * (276m) LT
= 28.300 ¢ * (283000mm") A
= 9.440 ¢ * (9440mm*)
= ilgoooo kg/c  (207000N/mn’) - 180¢
K = 1. ‘
b = 1600 kg/c
s = 900.0 kg/c
344.2 kg/ 4.06 kg/

348.3 kg/ = 3.48 kg/c  (3.42 N/mm)

2 2
e = 3'48; 180 - 14094.0 kg ¢ (1390 KN mm)
- 1302260 - 1493.0 kg/c b = 1600 kg/c
) (147 N/mn’) (157 N/mn’)
o = 3-48; 180 _ 3132 kg (3080 N)
K__ - 1-2;_;§f-2 = 113.5 kg/c s = 900 Kg/c
) (11.2 N/mt) (88.3 N/mt)
5 * 5x 3.48x 180° - 0.800 ¢
384 384x 2100000 28.300 -
(8.00 mm)
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250x250x9x14 (SS400)

( )
5.850 ( =5.80 ) 1= 72.4 kg/
IR
( ) = 10800.0 ¢ * (108000000mn’")
= 867.0 ¢ * (867000mm’) = 5.850
= 2100000 kg/c  (207000N/mn’)
b = 1600 kg/c
s = 900 kg/c - 629.3 ka/
= 4.500 (2831.9kg/4.500m)
1 =72.40 kg/ (711 KN/mm) EEREEEN
2 = 344.2 kg/ x X
= 344.2 kg/ x 1.800 x 4.500 = 5.8%0
4.06 kg/ x 1.800 x 6 = 2831.9 kg (27800 N)
@
2 2
1= E _ 72.4Ox85.850 - 309.7 kg
- 22 _ 2831.9x (1 2x5.850 4.500 ) _ 5540 7 kg
8 8
= 1 2 =309.7  2548.7 = 2858.4 kg (28100 KN mm)
ob = - 285gé§x0100 = 329.7 kg/c b = 1600 kg/c
) (32.4 N/mt) (157 N/mn’)
@
1= ; _ 72.40><25.850 - 211.8 kg
_ 2 2 _ 2831.9x ( 5.850 2.250 ) _
2 = = 5 850 = 1742.7 kg
= 1 2 =211.8  1742.7 = 1954.5 kg (19200 N)
_ _1954.5  _ _
T = = 0.90x 25.0 - 86.9 kg/c2 s = 900 kg/c 2
(8.53 N/mn?) (88.3 N/mn?)
©)
1=72.40 kg/ = 0.72 kg/c (0.711 N/mm)
2 = 2831.9 kg
= 2831.9 kg 585.0 c = 4.84 kg/c  (4.75 N/mm)
_ 5 Y B5x(0.72 4.84)x585" _
o = 384 = 38ax 2100000x 10800 0370 €

(3.75 mm)
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H 1200x800x15x12 (SS400)
( ) 1= 289.4 kg/

6.500 ( =6.500 ) JLILLLLLLT
880766.0 ¢ * (8807660000mm")

( ) = 14679.4 ¢ * (14679400mm*) = 6.500 ‘
= 2100000 kg/c  (207000N/mm’) ‘
b = 1571 kg/c
s = 900 kg/c = 1628.8 ka/
= 3.600 (5863.5kg/3.600m)
1 = 289.40 kg/ (2840 KN/mm) LI
2=  x = 1954.5 kg x 3 ! = 6.500
= 5863.5 kg (57600 N)
@
2 2
1 = % _ 289.40; 6.50" _ 15og 4 kg
- 22 _ 5863.5x ((2x 6.500 3.600 ) _ gaoq g kg
8 8
= 1 2 = 1528.4  6889.6 = 8418.0 kg (82600 KN mm)
ob = - 8418.0x 100 _ 57 5 yq/c b = 1571 kg/c
14679.4 ) 2
(5.63 N/mm”) (155 N/mm%)
@
1 = ; _ 289.40; 6.500 _ 940 6 kg
_ 2 2  _ 5863.5x ( 6.500 1.800) _
2 = = 5.500 = 4239.8 kg
= 1 2 = 940.6  4239.8 = 5180.4 kg (50900 N)
_ _ 5180.4 _ _
T = = 1 50x 1200 - 28.8 kg/c2 s = 900 kg/c 2
(2.83 N/mm™) (88.3 N/mm”)
(©))
1 =289.40 kg/ = 2.89 kg/c (2.84 N/mm)
2 = 5863.5 kg
= 5863.5 kg 650.0 ¢ = 9.02 kg/c (8.85 N/mm)
_ 5 " B5x(2.89 9.02)x 650" _
& = e = 7 384x 2100000x 880766~ 0-0° ©

(0.15 mm)
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